Case study environment: QV11 SR2, SR6

Created a table like:
Load * Inline [
User, Country
Userl, India

Userl, USA

Userl, Switz

User2, India
User2, England
User2, Singapore
User2, USA

]

That means Usel doesn’t have England, and

Now | follow the following sequential approach of actions.
Testl:
1. Select Userl-> Create bookmark (U1)
2. Now make a selection(England) field Country and enable ‘Always One Selected Value’
3. Save application
4. Reduce the application on bookmark — U1
Result: Failed (with Error — “...because it is being used by another process.”)
Test2:
1. Select User2 -> Create bookmark (U2)
2. Now make a selection(Switz) field Country and enable ‘Always One Selected Value’
3. Save application
4. Reduce the application on bookmark — U2
Result: Success
Reduced application has Country (England, India, Singapore, USA; — England selected )

Test3:
e Select ‘India’ (or any other which is common to both users)
e Reduce on U1, U2
Result: Success (Both)

Note: In all the cases, the bookmark was created ‘Make bookmark apply on top of current selection’ enabled.
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